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Talking about the Weather



R

(indicating degree)so,such



hao wanr

4t )L

fun,amusing,interesting




to go out




hui qu

to go back




fei chang

HE

very, extremely,exceedingly
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Zao0 gao

RS

in a terrible mess;
how terrible




you

again



5. The Adverb X (you, again)

X (you, again) indicates recurrence of an action.

1LERR ETE, KRR EXTET,
zuo tian zao shang xia xuée , jin tian zao shang you xia xue le.
It snowed yesterday morning. It snowed again this morning.

2. BB ENERGRITEE XM ERNERITERE T,
ma ma shang ge Xing qi géi wo da dian hua, zhe ge xing gi you géi wo da dian hua le.
My mom called me last weekend. She called me again this weekend .

3.MhHERES TR/ VRNIEBZE , SRAXEYT T,
ta zuo tian fu xi le di ba ke de yu fa, jin tian you fu xi le.
He reviewed the grammar in Lesson Eight yesterday , and he reviewed it again today.




5. The Adverb X (you, again)

Both X (you, again) and f5(zai, again) indicates repetition of an action, but in a
sentence with X (you, again), usually both the original action and the repetition
occurred in the past, whereas F(zai, again) indicates an anticipated repetition of an

action in general.
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4. T ENEREBRE T, MERIR X EBRE T,
woO shang ge zhou mo qu tiao wu le , zud tian wo you qu tiao wu le.
| went dancing last weekend. Yesterday | went dancing again.

3
3

m

5. FMEREBkEE T, FAEI R EBEBEE,
woO zu0 tian qu tiao wu le , wo xiang ming tian wan shang zai qu tiao wu.
| went dancing yesterday. I m thinking of going dancing again tomorrow night.




mian shi

E e

to interview;interview “




chun tian

ER

spring




Xia tian

BR

summer
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autumn

fall
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2P

comfortable




jla zhou

IEA

California




6. Adj/V+iE(shi)+Adj/V,+ 7] j&/{B &...(ké shi /dan shi ...)

Sentences in this pattern usually imply that the speaker accepts the validity of a certain
point of view but wishes to offer an alternative perspective or emphasize a different
aspect of the matter.

1. A: TEVKIERXE 2
hud bing nan bu nan
s ice skating difficult?

B: TEV/KEZME , I=RBRBEERE,
hua bing nan shi nan, ke shi hén you yi si.
It is difficult, but it is very interesting.




6. Adj/V+iE(shi)+Adj/V,+ 7] j&/{B &...(ké shi /dan shi ...)

Sentences in this pattern usually imply that the speaker accepts the validity of a certain
point of view but wishes to offer an alternative perspective or emphasize a different
aspect of the matter.

2. A: TE AN EFFE |, RETKI ?
zai gao su gong lu shang kai ché, ni jin zhang ma ?
Do you get nervous driving on the highway?

B: RIKE XK , AR R I L.
jin zhang shi jin zhang, ké shi ye hén hao wanr.
| do get nervous, but | find it a lot of fun, too.



6. Adj/V+iE(shi)+Adj/V,+ 7] j&/{B &...(ké shi /dan shi ...)

Sentences in this pattern usually imply that the speaker accepts the validity of a certain
point of view but wishes to offer an alternative perspective or emphasize a different

aspect of the matter.

3. A: I RFIRFA S, IREFE?
ming tian xué xiao kai hui, ni qu bu qu
There is a meeting at school tomorrow. Will you go?

B: ﬁf%%, ﬂ%é{\ _/If_:_I\)Lo
woO qu shi qu, ké shi hui wan yi dianr.
I'll go, but | will be a little bit late.



6. Adj/V+iE(shi)+Adj/V,+ 7] j&/{B &...(ké shi /dan shi ...)

Sentences in this pattern usually imply that the speaker accepts the validity of a certain
point of view but wishes to offer an alternative perspective or emphasize a different
aspect of the matter.

4. A: IREXIX KB ?
ni xi huan zhé zhang zhao pian ma ?
Do you like this picture?

B: EXNXEBEMR , ARXKBA XNT,
XI huan shi xi huan, ke shi zhe zhang zhao pian tai xiao le.

| like it , but this picture is too small.



6. Adj/V+iE(shi)+Adj/V,+ 7] j&/{B &...(ké shi /dan shi ...)

This pattern can be used only when the adjective or verb in it has already
been mentioned,e.g., ¥(nan) in (1), E5&(jin zhang) in (2), Z(qu) in (3),
and Z3XX (xi huan) in (4). In this regard, it is different from the pattern &
IR AR /{BSE. . (suT rdn ...ké shi /dan shi ...)



EA T ?(z8n mele ?) is a question that may be asked upon encountering
an unuaual situation.

A: EJLW%/%;F%*E*%O
zher de tian qi féi chang zao gao.
The weather here is awful.

B:/EAT ?
zénmele?
How come?

A FER T RN, G RX TR T,
Zuo tian xia da yu, jin tian you xia yu le.
Yesterday it poured. It rained again today.
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